
Ex 17L Decision Tree

pnlqvr)

pqr qui pnlqvr)
000 0 0
001 1 0
010 1 0

011 1 0
100 0 0

101 1 1
110 1 1
111 1 1

5 : pnlqvr) [3T ; sé]
A : PMI
E = -

§ . lantz) -g. 1%(3-0)=0,954
↳=p)
C- (sit) = -1,1%(1171%17)=9011
Elsa

.D= - { tanti)-0

6({ a)= 0,954 - § . O - § ◦ 0,811--9548



G-- g)
E (E) = -2,1%4) - Ghoul?) --1
E D= -? lasl?)- 1,1%111=90^1

a) = 0,954 -§ . 0,811 -§ . 1=90485

⇔
Elsa=-D= -71%1:) -2-{1%1}) --1
EÈ e) = -3g bsd?) - 1,1%(1-2)=9811
GLS

,a)= 0,994 - § . 0,811 -§ .
1 = 0,0485

p
max ( G (Sp)) = 6(S, p) → p is selected
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E
= -1,1%(117,1%17)=98"

(za)
Elba) --0
EE.it. -1,1%(1-2) -121%(1-2)=1
GHz)= 0,811-21.1-2-4.0=0,3^1

(a)
Elba) --0

Elbert. -11%(11.121%11)=1
GLS

, a) = 0,811 -2-4.1-2-4.0=0,311
p

01 Y Masks
, D) = Gls , g) → q is selected

but also t con

0 9 be Selected

01 1

i 1
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